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Note

(@)

(i)

[Maximum Marks : 60
yTg A AT QA T, AT H B

There are three sections A, B and C in the paper.

(i) @7 QH 39T &A1 % G110 YT % e AT | TS 9T T 3 H 8 T

@} 10 9777 TG TFR S J971 % 8 |
Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT P 8 gvat B 8 fsegl 6 39 & IR T | I FT 3 3 HTE 0

FTHT 5 /50 FI5T] 7 FH AT |
Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) G & % 6 FoA A @ farel 4 X & I Y | T T 8 3k #H 8 T

)

g7 15 @TE/150 5] § IR T |
Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

vl DT & G} 39 ) HHAR € Gre 5T Hitord |

Solve all the questions of a section consecutively together.

(vi) Y T 7 37 g7 1 1R 7 7 e E A E |

Only English version is valid in case of difference in both the languages.

A - T
SECTION - A
e R TSI 5432 + — + BT A T8 ?
(a 12 (b) -5
() 15 (d -10
What is the value of the post fix expression 5432 +—* ?

(@ 12 (b) -5
() 15 (@ -10
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(i)

(iii)

(iv)

Sftar ! Sifthad v 4 seer o fore fope 221 S w1 3y fear ST 2 7

(a) Wh (b) fomre foee
(c) s (d)
Which data structure is used to convert the infix to prefix notation ?
(a) Stack (b) Linked List
(c) Binary tree (d) Queue
frfafea ® 8 i € 21w v Wi S s R R 7
@ ® (b) wH
() *q (d T
Which of the following data structure is not a linear data structure ?
(@)  Array (b) Stack
(¢) Queue (d) Graph
w9 frefefiga o 9 e frgia o1 swim st g ¢
(a) TR R A& (b) K T HE 3
(c) TR 3 ARL 33 (d) I8 TE
Which of the following principle does queue use ?
(a) Last In First Out (b) First In First Out
(c) Last In Last Out (d) None
(v) Toru sRR i forvre fore o gt feanadt o Sada e s apar 2 7
(a) Torelt forwre foree (b) sue ot fore
(c) T forre foree (d) g
In which type of linked list traversals can be performed in both directions ?
(a) Singly Linked List (b) Doubly Linked List
(¢) Circular Linked List (d) None
(vi) Trerferliaa @ & 1 = TSR T gueh s fore % iew § R AT ST R 2
(a) TESHIAA (b) 3T I T T
(c) TeATsHIgar (d) ST et
Which of the following information is stored in a doubly-linked list nodes ?
(a) Value of node (b) Address of next node

(c) Address of the previous node (d) All of the above

(vii) Tor=re foree o 3ia  woh 319 g % o fopa dfsed =t genfira fvam s 2

(@ 1 b 2
© 3 (d 4
How many pointers will be modified to insert an element at the end of a linked list ?
@ 1 (b) 2

(© 3 d 4
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(viii) S BE T= (BFS) o O HAIE 5 T ST HTT 21
(a) b (b) ®
() *L @ &
The data structure used in standard implementation of a Breadth First Search (BFS)
is .
(a) Stac (b) Array
(¢) Queue (d) Tree
(ix) T U Forem aeft sfiat <t ard T 8
(a) Touer o® (b) T UTH
(c) VR I (d) HEIAIE AT
A graph in which all vertices have equal degree
(a) Simple graph (b) Multi graph
(¢) Regular graph (d) Complete graph
(x) ne® (I 9T T Ot A S A TMeF A2 |
(a 2n-1 (b) 2n
(¢c) 2n+1 (d n
A full binary tree with n leaves contains nodes.
(a 2n-1 (b) 2n
(¢) 2n+1 (d n (1x10)
Qe — &t
SECTION - B
2. SATEAFIR ? THATRC |
What is data structure ? Explain. 3)
3. Wi g sEAd ¢
What are linear and non-linear data structures ? 3)

4. Tr=fefas sithes TeEd &) TReihed TRy 1 §ea

(A+BADY(E-F)+G

Transform the following infix expression into post fix expression :

(A+BADY(E-F)+G ?3)

5. O 1 U e Frerfed wE % fo wem fafeay |

Write a function to execute pop operation in a stack. €))
6. fereh Rige free 3 vget s i M & forg e faflan |
Write a function to delete the first node of a singly linked list. 3)

P.T.O.
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7.

10.

11.

12.

13.

14.

15.

Tghent foiere foree @ 8 ¢ gweisy |
What is circular linked list ? Explain. 3)

T 1 T s | Fréfire o = R 7
Define graph. What is a directed graph ? 3)

frferiad saftere ToRese o foTe TS STsR St o formion B
at+tb*(c—e)f
Construct the expression binary tree for the following infix expression :
atbx*(c—e)f 3)

e —
SECTION - C
TR o T T AT B 7 9 N 3T i §H U9 Srelie i vg Temnieen forfam |

What is meant by circular queue ? Write an algorithm to insert and delete an element
from a queue. ®8)

Wb o SIIANT ol TSy | FreforReaa it Teasie <1 AT 91 &6

Explain the applications of stack. Find out the value of the following Postfix expressions :

(@ 232~782//52%x6—+

(b) 623+-382/+ %273+ ®

foiere foree <1 SURIT Stk Y & HIAT=II 1 ARAST |

Explain implementation of queue using linked list. ®)

I ICTET hl TR 8 g BE 9 (BFS) UTh ¢THA dAehr1eh oh! HUTST, |

Explain Breadth First Search (BFS) graph traversal technique with the help of suitable
example. 3)

T S R R 7 W BT IWANT b FTEH & o FORITH i TSy | S5 & 9 g &l
T o foe wemien fofa |

What is binary tree ? Explain the representation of binary tree using array. Write an
algorithm to delete a node from binary tree. ®)

ST ST <hl STASHAT TaT | 821 FCE1 o Tl TR i THsy |

State the need of data structure. Explain the various operations on data structure. ®)




